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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 Give answer of the following questions.

	 (i)	 What is modern definition of economics?

		  AW©emñÌ H$s AmYw{ZH$ n[a^mfm {b{IE&

	 (ii)	 What do you mean by deductive method?

		  {ZJ‘Z {d{Y go Amn ³¶m g‘PVo h¡?

	 (iii)	 Define Price mechanism.

		  {H$‘V V§Ì H$mo n[a^m{fV H$s{OE&

	 (iv)	 Define Utility. 

		  Cn¶mo{JVm H$s n[a^mfm ~VmBE&

	 (v)	 What do you understand by cross elasticity?

		  {Vajr bmoM ³¶m g‘PVo  h¡?

	 (vi)	 What do you mean by marginal physical productivity?

		  gr‘mÝV ^m¡{VH$ CËnmXH$Vm go Amn ³¶m g‘PVo h¡?

	 (vii)	Define welfare economics.

		  H$ë¶mUdmXr AW©emñÌ H$mo n[a^m{fV H$s{OE&

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&
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2)	 Write the area of Micro Economics.

	 ì¶{ï> AW©emñÌ Ho$ joÌ {b{IE&

3)	 Explain law of diminishing marginal utility.

	 gr‘mÝV Cn¶mo{JVm õmg {Z¶‘ H$s ì¶m»¶m H$s{OE&

4)	 Draw the price line with help of a hypothetical table.

	 {H$gr H$mën{ZH$ Vm{bH$m H$s ghm¶Vm go H$s‘V aoIm ~Zm¶|&

5)	 Explain the price effect includes substitution effect and income 

effect by Hicks' method.

	 H$s‘V à^md ‘| à{VñWmnZ d Am¶ à^md Ho$ em{‘b hmoZo H$s {h³g {d{Y 
H$s ì¶m»¶m H$s{OE&

6)	 Explain the types of price elasticity.

	 H$s‘V bmoM H$s lo{U¶m± H$s ì¶m»¶m H$s{OE&

7)	 Write a short note on Marginal Rate of Technical Substitution.

	 VH$ZrH$s à{VñWmnZ H$s gr‘m§V Xa na EH$ bKw {Q>ßnUr H$s{OE&

8)	 Briefly discuss the relationship between Total cost, fixed cost 

and variable cost.

	 Hw$b bmJV, pñWa bmJV Ed§ n[adV©Zerb bmJV ‘| gå~ÝY H$m g§{jßV 
CëboI H$s{OE&

9)	 Explain the uncertainty principle of profit.

	 bm^ H$m A{Z{üVVm {gÕmÝV H$s ì¶m»¶m H$s{OE&
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	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 How does the price system in the free capitalist economy 

present a solution to central problems? Explain.

	 ‘wº$ ny§OrdmXr AW©ì¶dñWm ‘| H$s‘V àUmbr {H$g àH$ma Ho$ÝÐr¶ g‘ñ¶mAm| 
H$m g‘mYmZ àñVwV H$aVr h¡? g‘PmB¶o&

11)	 What is an indifference curve? Explain in the equilibrium of 

consumer with the help of indifference curve.

	 VQ>ñWVm dH«$ ³¶m h¡? EH$ Cn^moº$m Ho$ g§VwbZ H$mo VQ>ñWVm dH«$m| Ûmam 
g‘PmBE&

12)	 What do you mean by law of variable return? How can you say 

that second stage is the best stage for production?

	 n[adV©Zerb AZwnmVm| Ho$ {Z¶‘ go Amn ³¶m g‘PVo h¡? Amn H¡$go H$h 
gH$Vo h¡ {H$ {ÛVr¶ AdñWm hr CËnmXZ H$s gdm}Îm‘ AdñWm hmoVr h¡&

13)	 Discuss the difference between perfect completion, monopoly 

and monopolistic competition.

	 nyU© à{V¶mo{JVm, EH$m{YH$ma VWm EH$m{YH$mamË‘H$ à{V¶mo{JVm ‘| AÝVa 
H$mo ñnîQ> H$s{OE&


